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There is a 'Cool off time' of 15 minutes in addition 1n the writing time of
2% hrs.

You are neither allowed to write your answers ror to discuss anything with
others during the ‘cool off time'.

® Use the 'cool off time' to get familiar with questions ar.d o plan vour answers.

® Read the questions carefully before auswering.

® All questions are compulsory and oulv ircernal choice is allowed.

® When you select a question, all the sub-quescions must be answered rrom
the same question itself.

® Calculations, figures and granhs shovld ve snown in the answer sheet itself.

@ \Malayalam version of the nuesticne i+ also provided.

® (iive equaticns wherever uccessary

® [Klectronic devices except nonpregrammable caleulators are =-t 2 ~wed in
the Examination Hell
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1. Entity in MS Access is a .........
a) object of relation
b) present working model
¢) thing in real world

d) model of relation

9.  Accounting means recording

a) economic transactions
b) economic events
¢) both options a) and b)

d) neither options a) and b)

3. Trial Balance is ...........
a) an account
b) a statement
;ov a subsidiary beok

d) a principal book

4. Find the old »ne o1 and justify

your answer.
a) Ready-to-use
b) Customized
¢) Tailored

d) Database
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a) object of relation

b) present working model

¢) thing in real world

d) model of relation
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a) an account

b) a statement

¢) a subsidiary book

d) a principal bock
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6.

Transactions between owner
and business are recorded due

tO ceeirieenns principle.
a) going concern

b) accounting entity
c) matching

d) consistency

What is the maximum length a

text field can be in MS Access?

a) 120

(o
S~—
~J
ot

Journal entry tc record 'Salarics

paid' will incltde ......
a) debit cast. and credic salaries
b) debit caleries aud credit cash

¢) debit capital and credit

salaries

d) debit salaries and credit

capital

K-815
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a) golng concern

b) accounting entity

¢) matching

d) consistency (1)
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b) 255
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a) debit rash and credit salaries

b) det:: salaries and credit cash

¢) Z:zoit capital and credit
zzlaries

d) debit salaries and credit
capital (1)

Turn Over




8.

9.

Complete the following chart.

(2)
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Components of Computer
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(2)

Input Unit

Athul, a commerce student
prepared the following diagram
showing examples of direct
expenses for exhibiting in the
class room. Identify the wrong

examples appearing in the

diagram.

()

Output GI# ;
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_ Direct Expenses
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10.

11.

Mr. Adwaith started a business
with Rs. 2.50,000 as an initial
investment. Of which he paid
Rs. 20,000 for the purchase of
Rs. 25.000
computer and Rs. 40,000 for

furniture, for

stock of goods. He sold goods on
credit to Ashok for Rs. 3,000. He
also purchased goods from
Sudeep on credit for Rs. 15,000.
From the above information,

identify —

a) What is the amount of

capital?

b) Who is the debtor and what
is the amount receivable

from him?

¢) What are the fixed nsseis he

bought?

Accounting possess certain

qualitative feaiures. List them.
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12. Calculate the value of cost of 12. e@omy &oag’ ey’
goods sold and gross profit. (3) gro@ale @0 WO -
alaloadilOMRio M HEMBOHIBHIE. (3)
Stock in the beginning 18,000
Stock at the end 20,000
Purchases less returns 20,000
Carriage obw?:;ow.mmm 4,000
Sales 1,52,000
Sales returns 7,000
o . _

13. A building worth Rs. 10 lakhs is 13. 10 aemo ool afleia@lenym 6o
purchased for Rs. 8 lakns and odgIso 8 ldio Oalds) QLOGBISH®I0
recorded the same in ‘he bonks e alWOHETI@R 8 sleyo
of account at Rs. 8 12khs. 0B DO BRSSO
a) Name the acceunting o210®).

principle :eferred in the
~bove. 1) a) meeld aleoodnlallgies
. @EONEEE Mo aRmIEm? 1)
b) Explain that principle. (3)
b) @ ®®o AUNAEBELND:. (3)
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Mr. Mrinal got appointment as 14. o). ogemoelsy 8oy Mo~ ~ T 7
cashier in a firm for handling R TITTTIPN: ST PAPRT
ly the small p: ts . ]
only the =& payments and £2.3,. =171 £,003000@] rlwamoe
expenses. He records these ina . .
piglgy FTIR D TT I £1200M08
separate book. .
(@Y . TAETT A
e ‘ BREUONSLOTITNY.
a) Identify the name of the boc: DT
prepared by Mr. Mrinal. (1)
. a) ayemoad ®QYOo0oLe W
ANVE SO Gal®
b) Prepare that book from the :
) @ LA
following transactions. (3) = (1)
h) ®oey OIS, TT 5129
o1 Salns Mgl @mlomgo 7z
@l Do OPOOILEB. (3)
2015
_dune 1 Cash receivad from main cashier Rs. 250
..... " ... 3 Staticaerv purchased Rs. 25
(Clcaning exverises Rs. 30
..... ".... v Rugsfare Rs. 14
......... 15 Telegram charges Rs. 18
" 14 Cartage paid Rs. 40
..... "... 20 Pen, pencils etc. Rs. 38
..... *... 28 Stationery Rs. 28
Turn Over
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15. Following errors were noticed in

the books of Mr. Prem.

® Wages paid Rs. 3,000 to
Ganesh was debited to his

personal account.

® Wages paid for building
construction Rs. 12,000 was

debited to wages account.

a) Identify the type of error and

rectify them.
b) Name the temporary ledger
account opened for putting

the difference in the trial

balance.

16. You are given  certaiu

transactions of a trader

® Started pusinesc witl cash

Rs. 66,000

Furnituye purchased

Rs. 12,000.

Purchased goods on credit

from Abhi Rs. 8,000.

Received commission

Rs. 2,000.

K-815
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@ Wages paid Rs. 3.000 to

1

Ganesh was cbited to his

personal oo

paid building
construction Rs, 12,000 was

debited o weges account.
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® Started business with cash

Rs. 60,000

@ Furniture purchased

Rs. 12,000.

® Purchased goods on credit

from Abhi Rs. 8,000.

® Received commission

Rs. 2,000.
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a) Prepare an accounting a) el oM.~ T 7
equation for the above. (4) @00 DENE1 603 M@=,
®YOOIDNS:. e
ly the missin
b) Supply the g amounts b) @oeeveEiens ~2 ZCUD 6 O
on the basis of zccounting . -
ST asmacEs - 5300w
equation. (2) OHOQ HOENBOTLE. (2)
Assets = C zpital + Liabilities
1) 20,000 R.23%. 2,000
2) | e P 30,000 0
17. Anu draws a bill on Achu for W\q 0015 =eycadl 1-oF @my 3 @O
Rs. 3.000 on 17 January, 2015 1 soonaolgs 3.000 0pies &0
pavable after 3 months. Achu __ srflp 1o oo iemes  @DAIM)
accepted and returned the bill to §ISyTNY. @02 @ M & 200
Anu. The bill 1s discounted LV ’ @omafla  efigl TSSO
Anu on the same day. | £.olQM). BRCD® Ao ®e ™ T
@ 6072 AMIE6Ns OoIORT ..
a) Calculate the awount of
discount in thke Following a) ®OeY el aleaMoles
cases (2) TS 06TE @ HEMHOOBND.  (2)

® The uill 13 discounted for

Rs. 2.900.

® Thebillis discounted @ 12% p.a.

b) Ascertain the maturity date

of the above bill. &)

K-815

® The bill is discounted for
Rs. 2,900.

® Thebillis discounted @ 12% p.a.

b) oygl@d OO enflgllo
£081004Wl AT BHOENETTDI. 1)
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18.

"Outstanding Expenses are to be

accounted for while preparing

the financial statements".

a) Which concept of accounting

18. adlmomdauy@?

ENBMOAT).

®QYO0HHIE ML 0T

a) @VLOVETEITS £

e mde:wm&u&

805 RO e’

)& VODMHOE al@lEmiess

b) moev e0samides ™ algld
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(1

3)

_ Treatment in the

Balance Sheet

Shewn on the

is mentioned in the above? (1)
Qg
b) Complete the following
table. (3) X
Al AT NEDEs.
AN
Adjustments Treatment in the
P&IL acrount
Eg: Outstanding salary Acded vitn salary

on closing date

on he debit side

Liability side

|
|
L

the Trial Balance

P&L account

a) Prepaid insurance on | e Y SO Shown on the
closing date _ Asset side
b) Depreciation on | e Y S Deducted from
turnivire furniture on the
Asset side
¢) |Bad Jdebts given outside Debited to | e I ST

K-815
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19. Prepare Purchase Book from the

649
19. @mmidleeym salosieald miomo

4)

B @MY 1B BYOOOD .

50 packs of pencils @ Rs. 30 ver pack

200 college ncte oocks @ Rs. 30 each

50 Insvrument boxes @ Rs. 60 per box

following transactions. 4)

2015

May 1 Purchased from Appus Stationery
100 scheol bags @ Rs. 180 per bag
Trade discount 10%.

e 12 Bought from KK Stores

LAl 21 Purchased from \Gango Tvaders
150 {ile hoav<'s @ Rs. 10 each
Trade discount 5%.

20. The cashbook of a trader showed

a debit balance f Rs. 15,000 on
31%* Jenuvary., 2015, On
comparing the same with bank
the

passbook, following

information was received.

K-815

11

20. 80} 52j0ISHN0VOM B0ad n)HsED
2015 zmyuael 310y 48,000 ool
awenflg enloeiddmy &693&9%3.
@O@NOM MU0 oY NIHNIE0W]
®OO®MADY0

02IQUEMIORD @Oy

mAReIIges alloiesmaoem eidloj@.

Turn Over




a) Cheques drawn but not yet presented : Vipin  Rs. 5,000
Nabeel Rs. 4.000

b)  Cheques paid into bank but not yet credited :
Shaji Res. 2.000
) Jisha Rs. 3,500
¢) Bank charges not entered in cashbook Rs. 300
d) Dividend on shares collected by bark Rs. 1,800

. | ,

Cb Prepare a Bank _ ) 2015 =mmyud 3lem emo®s
Reconciliation Statement as _ Haapmieewaud eRaed
at 315t January, 2015. (5) ®YOOOLNE.

~ il ¢ @mdlenm EaI0BEEiM

ii) Choose the correct ansv.er _ i) @0 G E212EEMIT
(El@OW &E’®RO (60 B Q1@
from brackets for tue
) ) ailernie RO ETTMSIBNE:
following question 1)

A bank reconciliniion statement 1s

91. Rajecv drew 2 biil of Rs. 1,20,000
- on Szjecv on 1% February, 2015
for 3 montus. Immediately after
accepiaace, Rajeev endorsed the
bill to Soman. The bill was met
on maturity. Make journal
in the books of all the

entries

parties.

K-815

prepared by (bank / depositor).

o

21. 2015 S an(eniyal el 1o aoglal

1,20,000 @piwis 3 @ £-02100051
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22. A machinery was purchased by

Kefcon Ltd., for Rs. 5,00,000 on
1% April, 2011. It purchased
additional machinery for
Rs. 2,00,000 on 30" September,
2012. The machinery purchased
on 15° April, 2011 was sold for
Rs. 3,70,000 on 30'" June, 2013.
Depreciation is to be charged at

10% p.a. under straight line

method.

a) Prepare machinery account
upto 31° December, 2013
books are closed on 31°%t

December each vear.

b) Make correct pairs from the
following on the basis of binac

given.

(Hint Current Ascets

Fluctuation)

1) Depreciation
11) Depletion

111) Wasting Assets

iv) Fixed Assets

K-815
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22. 2011 oafi@®d 1 o edanesn e

elalgaw”  5,00,000 oiawyes

e @adlemol QIOEIEIM]. 2012
ealigoenud 3003 2,00,000 aaiwpes
06Q00) eaadlemai@io OB,
2011 ogylaliad 1oy aosndl emadlema
3,70,000 myatws’ 2N13 e 30y
Ql@BemM]. DI SHEMBHOBE)
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aacdier o) @0 B6 VeNS
DQYIOVHN b, [pTpE-Nerv)
@ imomMiallanyana  agglo
QURarOe allmceud 31 moam. (5)
b) maimemmuelel @amidesym
@b oo AWIW ERO®H8
©ENBOHb>.
(Hint Current Assets
Fluctuation)
1) Depreciation
1) Depletion
111) Wasting Assets
iv) Fixed Assets (1)
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N.W\ Vimal started a business on

15t January, 2014 with an
investment of Rs. 1,60,000. He
does not maintain proper books
of accounts for his business.
During the year 2014 he
withdrew Rs. 20,000 for personal
use and introduced Rs. 10,000 as
fresh capital. His voﬁﬁoz of
assets and liabilities as on 31

December, 2014 stood as follows.

Cash in hand 15,000
Stock in trade 55,000
Bills Receivable 20,000
Debtors 240,000
Creditors 55,00

Bank balance

(Overdraf-) 15,000
Furniture 30,000
Buildings 80,000

Prepare ctatement of Profit or
Loss for the year ended 315t
December, 2014, provided that
depreciation on furniture is to be

charged at 10%.

K-815°

(6)
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23. 2014 mmar 175 1,60,000 ol
eerallal o 80} enflmlonqyy
@OOoE]HOM]. @O
enflalmqulmoQl oy 0@ TVHODENE
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2014@ @owot 20,000 o
QY TR @3 LR, EBREHOW
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3

Aetemawie 10,000 ol

e oewnzool cleadallen

sy e--oumy. 2014 aulaooenid
3107 mMwoes @RMIE]-eLIow®

FIRIL T DOOP BSOTHBBOYME.

_

_ Jash in hand 15,000

|

| Stock in trade 55,000
Bills Receivable 20,000
Debtors 40,000
Creditors 35,000

Bank balance

(Overdraft) 15,000
Furniture 30,000
Buildings 80,000

2014 almosud 3lea egRAOOQ
@00l Blal0adll/GRIOQ) ®YOOIEH:.
anderfiadlony mslldd 10% eo@mdomo

(6)
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24. Following is the trial balance of
R. K. Traders on 31°* December,
2014. Prepare Trading and Profit

& Loss account and Balance

Sheet taking into account, the

adjustments given.

K-815
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24. @od om ssWewvmiled 2014
adlavosnid 31ed s eioeindmos
OB, NBlenM@. @mMIElHeym
MWROARIH08 9o SO0
esadlend’ @A elatdadly @b
GRIOQY @OBVENELo ENIOIBMY axfigo

AYOOIH6)) .

Particulars Debit Amount .__.»an&n Amount
Cash at Bank 4,500 | -
Stock (1-1-2014) 5,000 “ -
Debtors 25,000 “ -
Purchases 77,500 -
Sales - 91,000
H.uﬁomc@?m Expenses 1,800 -
Salaries _ 1,200 -
Commission - 2,000
Lean - 4,300
Capital - 17,000
Interest - 200
Creditours - 10,200
Furrituse 10,500 -
Insurance 1,200 -

" Treel \\ 1,24,700 1,24,700

O\ —

Adjustments :

a)  Closing stock was valued at Rs. 2,400.

b) Commission received in advance Rs. 800.

¢) Salaries due but not paid Rs. 1,300.

d) Depreciate furniture by Rs. 1,500.

e) % of insurance is unexpired.

15

649

(8)



